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CC303/CE303 ROING.  ceveeeenvenennnnenns

2021
DESIGN OF R.C.C. STRUCTURE

Fuffa g . 14w [HAftremaw 3 : 70
Time allowed : 1% Hours | [Maximum Marks : 70

qA: () FYAIIHIAEEE AT H 3 et @t & I A

Note : Question No. 1 is compulsory, answer any TWO questions from the remaining.

(i) Fed% F99 % G Tl %1 FHER 0F G 8 FHor3 |

Solve all parts of a question consecutively together.

(iii) Fe% 597 H 79 98 & YRE] FHiferd |

Start each question on fresh page.
(iv) g1 19137 8 37 g1 1 1R 7 3130 srgare & 7 8 |

Only English version is valid in case of difference in both the languages.

1. Tfefaa weai & v g o i
Explain the following questions briefly :
() e i SRR Siaae faftr i g o dmrma sreeen faft st e w2 2
Why is limit state method more advantageous as compared to working stress
method of design ?

(i) fg-feur wta 6t gorn o © fow e e yer fr= @ 2

In which way one way slab is different in comparison with two way slab ?

(ili) T 3g e Tee % TRy T YT WEaUH RS ?

What are main provisions regarding the longitudinal reinforcement for columns ?

(iv) wa H oo yerem Y Sawrehdr S quETs |

Explain the necessity of distribution reinforcement in slab.
(v) Tafte yor 6 dimma saenat & 9w faRed |
Write down the names of different types of limit state. (4x5)

(10f4) P.T.O.
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2.

U THe YEfd AEAHR U $ =EE 230 mm a7 ST TE0E 460 mm ® | 38
5-20 mm 1 394 ) WS & vaferd fbam T R | 39 9 1 = ey et $d Hi |
M-20 Sroft &) Shshie a2 Fe-415 Soft 1 geama 3o i |

A singly reinforced rectangular beam is of width 230 mm and effective depth 460 mm.
It is reinforced with 5-20 mm bars of steel. Find out ultimate moment of resistance of

the beam. Use M-20 grade concrete & Fe-415 grade steel. (25)

U g et T fan Wi 1 Afwer $ifvd Rt st fagia 3m R 1 7@
350 mm TG GaR} T Tefad 8 | =96 91 2 kN/m? R | M-20 3oft 1 sl a0t Fe-415
gyoft <61 FEaTa T ITANT HA |
Design a one way slab simply supported on clear span 3 m. It is supported on 350 mm
thick walls. Live load is 2 kN/m2.Use M-20 grade concrete and Fe-415 grade steel.

(25)

1900 kN T 9T 3 fre us w1 aieht RCC &t &1 3firehead hifvd | M-20 718 i
Sheble AT Fe-415 U o1 yaeld SarT Hif |

Design a short square RCC column for a factored load of 1900 kN. Use M-20 grade of

concrete and Fe-415 grade of reinforcement. (25)

T T H R B I SR 1200 mm. F $ qeE 100 mm, A9 H ANSH
300 mm YT IHTE TEE 560 mm 2 | 38 25 mm =ITE 1 4 B | yaiord fhen R |
ToRT = wfaty STt T HE | M-20 g i Sshie qT Fe-415 I8 1 Yoo SA1
Hif |

A T-beam is of effective flange width 1200 mm, thickness of slab 100 mm, width of
web 300 mm and effective depth 560 mm. It is reinforced with 4 bars of 25 mm
diameter. Determine its ultimate moment of resistance. Use M-20 grade of concrete
and Fe-415 grade of reinforcement. (25)
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6.

@

(i)

(@)

(i)

(ii)

(iii)

RCC 91 # & Yaeid o 3Tehoud o 9ol faftad |

Write design steps of shear reinforcement in RCC beams.

1.S. &g & IER Hshie Her foh el W el e R 7 yafera dive @hsfie &
fafir=r araarai o for wme fohamn BT 2 2

As per LS. Code on which factors concrete cover depends ? What is the value of
cover for different elements of RCC ? (12%+12Y%)

waferd, = wafera qut 3t yafera @uet @1 fean & gasmed |

Explain in detail balanced, under reinforced and over reinforced sections.

Ueh BT o HTe 1 THE 5Y9 9 WM Tae feqgfa i quid ge sHTsd |

Draw sectional elevation and plan of a footing showing reinforcement detailing.

(12%+12%)

0.86% T ferael a1 M-20 U %1 whshie o fTe T, %1 714 1 iR |

Determine value of T - for 0.86% tensile reinforcement and on 20 grade concrete.

Fe-500 Seie a1 M-30 3shie & for ggferd @ie & fore €iat &1 wfawa sma i |

Determine percentage of steel for balanced section for Fe-500 reinforcement and
M-30 concrete.

Fe-415 e aun M-25 sshie & foTe 20 mm @ara it g3 2 fawar g sma
i |

Determine development length for 20 mm tensile rod for Fe-415 reinforcement
and M-25 concrete. (9+8+8)
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